

(Laurent) 178 116

$z-z_0$ apud $\frac{1}{z-z_0}$ est. $R > 0$ siquidem est $\sum_{n=0}^{\infty} a_n(z-z_0)^n$ siquidem est

$|z-z_0| > \frac{1}{R}$ est. (LSM) siquidem $\sum_{n=0}^{\infty} \frac{a_n}{(z-z_0)^n}$ est. $\frac{1}{|z-z_0|} < R$ est.

$|z-z_0| \geq R$ est. $\sum_{n=0}^{\infty} \frac{a_n}{(z-z_0)^n}$ est. $\rho \geq \frac{1}{R}$ est.

$|z-z_0| \leq R$ est. $\sum_{n=0}^{\infty} \frac{a_n}{(z-z_0)^n}$ est. $r < \frac{1}{R}$ est.

$r < |z-z_0| < R$ est. $\sum_{n=-\infty}^{\infty} b_n(z-z_0)^n = \sum_{n=1}^{\infty} b_{-n}(z-z_0)^n + \sum_{n=0}^{\infty} b_n(z-z_0)^n$ est. siquidem est siquidem est est.

$$\left\{ \begin{array}{l} \sum_{n=0}^{\infty} b_n(z-z_0)^n \text{ est. siquidem est. } = R \\ \sum_{n=1}^{\infty} b_{-n} \frac{1}{(z-z_0)^n} \text{ est. siquidem est. } = \frac{1}{r} \end{array} \right.$$

est. $0 < |z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

est. $|z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

est. $|z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

178 120

$r < |z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

$$\left\{ \begin{array}{l} F(z) = \sum_{n=-\infty}^{\infty} a_n(z-z_0)^n \text{ est. siquidem est. } \\ a_n = \frac{1}{2\pi i} \int_{|z-z_0|=r} \frac{F(z)}{(z-z_0)^{n+1}} dz \text{ est. } \end{array} \right.$$



est. $|z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

est. $|z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

est. $|z-z_0| < R$ est. $|z-z_0| < R$ est. $|z-z_0| < R$ est.

$$F(z) = \frac{1}{2\pi i} \int_{\gamma} \frac{F(\zeta)}{\zeta-z} d\zeta = \frac{1}{2\pi i} \left[\int_{\gamma_1} \frac{F(\zeta)}{\zeta-z} d\zeta - \int_{\gamma_2} \frac{F(\zeta)}{\zeta-z} d\zeta \right] \text{ est.}$$

$$\int_{\gamma_1} \frac{F(\zeta)}{\zeta-z} d\zeta = \int_{\gamma_1} \frac{F(\zeta)}{\zeta-z_0} \frac{1}{1-\frac{z-z_0}{\zeta-z_0}} d\zeta = \int_{\gamma_1} \frac{F(\zeta)}{\zeta-z_0} \sum_{n=0}^{\infty} \left(\frac{z-z_0}{\zeta-z_0} \right)^n d\zeta$$

$$= \sum_{n=0}^{\infty} \left(\int_{\gamma_1} \frac{F(\zeta)}{(\zeta-z_0)^{n+1}} d\zeta \right) (z-z_0)^n$$

$$= \int_{\gamma_1} \frac{F(\zeta)}{\zeta-z} d\zeta = \int_{\gamma_1} \frac{F(\zeta)}{\zeta-z_0} \frac{1}{1-\frac{z-z_0}{\zeta-z_0}} d\zeta = \int_{\gamma_1} \frac{F(\zeta)}{\zeta-z_0} \sum_{n=0}^{\infty} \left(\frac{z-z_0}{\zeta-z_0} \right)^n d\zeta$$

$$= \sum_{n=0}^{\infty} \left(\int_{\gamma_1} F(\zeta) (\zeta-z_0)^n d\zeta \right) \frac{1}{(z-z_0)^{n+1}}$$

$$f(z) = \frac{1}{2\pi i} \left[\int_{\gamma_2} \frac{f(\zeta)}{\zeta - z} d\zeta - \int_{\gamma_1} \frac{f(\zeta)}{\zeta - z} d\zeta \right] =$$

$$= \left(\sum_{n=0}^{\infty} \frac{1}{2\pi i} \left(\int_{\gamma_2} \frac{f(\zeta)}{(\zeta - z_0)^{n+1}} d\zeta \right) (z - z_0)^n \right) + \left(\sum_{k=0}^{\infty} \left(\frac{1}{2\pi i} \int_{\gamma_1} \frac{f(\zeta)}{(\zeta - z_0)^{k+1}} d\zeta \right) (z - z_0)^k \right)$$

... (text) ...

$$\int_{\gamma_2} \frac{f(\zeta)}{(\zeta - z_0)^{n+1}} d\zeta = \int_{|\zeta - z_0| = \rho} \frac{f(\zeta)}{(\zeta - z_0)^{n+1}} d\zeta, \quad \int_{\gamma_1} \frac{f(\zeta)}{(\zeta - z_0)^{k+1}} d\zeta = \int_{|\zeta - z_0| = \rho} \frac{f(\zeta)}{(\zeta - z_0)^{k+1}} d\zeta$$

$$f(z) = \sum_{n=0}^{\infty} a_n (z - z_0)^n$$

$$(r < |z - z_0| < R \text{ ...}) \quad f(z) = \sum_{n=0}^{\infty} a_n (z - z_0)^n$$

$$f(z)(z - z_0)^k = \sum_{n=0}^{\infty} a_n (z - z_0)^{n+k}$$

$$\int_{|z - z_0| = \rho} f(z)(z - z_0)^k d\zeta = \sum_{n=0}^{\infty} \int_{|z - z_0| = \rho} (z - z_0)^{n+k} d\zeta = \sum_{n=0}^{\infty} a_{n+k} \cdot 2\pi i$$

$$a_{n+k} = \frac{1}{2\pi i} \int_{|z - z_0| = \rho} f(z)(z - z_0)^k d\zeta$$

$$a_n = \frac{1}{2\pi i} \int_{|z - z_0| = \rho} \frac{f(\zeta)}{(\zeta - z_0)^{n+1}} d\zeta$$

$$\sin \frac{1}{z} = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)! z^{2n+1}}$$

(text) ...

(text) ...

(text) ...

(text) ...

$$\lim_{z \rightarrow z_0} f(z) = \infty \text{ (pole) ...}$$

(text) ...

(text) ...

(text) ...

(text) ...

(text) ...

(text) ...

(text) ...

(text) ...

(text) ...

$$|a_n| \leq \frac{1}{\pi} \cdot 2\pi \cdot \max_{|z-z_0|=r} \frac{|f(z)|}{|z-z_0|^{n+1}} \leq \frac{M}{r^{n+1}} = M r^{-n-1} \xrightarrow[r \rightarrow \infty]{} 0$$

$$f(z) = \sum_{n=0}^{\infty} a_n (z-z_0)^n \quad f(z_0) = a_0$$

$$f(z_0) = a_0 \quad : \text{if } z_0 \text{ is a point in } D \text{ then } f \text{ is analytic at } z_0$$

$$f(z) = \frac{\sin z}{z} = \frac{1}{z} \left(z - \frac{z^3}{3!} + \frac{z^5}{5!} - \dots \right) = 1 - \frac{z^2}{3!} + \frac{z^4}{5!} - \dots$$

$$f(z) = \frac{f(z) - f(a)}{z-a} = f'(a) + \frac{f''(a)}{2!} (z-a) + \dots$$

$$\lim_{z \rightarrow z_0} f(z) = \infty \quad \text{if } f(z) \text{ is not analytic at } z_0 \quad : f \text{ is analytic at } z_0 \text{ if } \lim_{z \rightarrow z_0} f(z) = \infty$$

$$[0 < |z-z_0| < R \Rightarrow f(z) \neq 0] \quad \text{if } f(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$\lim_{z \rightarrow z_0} f(z) = 0 \quad \text{if } 0 < |z-z_0| < R \Rightarrow f(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$

$$f(z) = \frac{1}{g(z)} = \frac{1}{g(z)} \quad \text{if } g(z) \neq 0 \quad \text{if } 0 < |z-z_0| < R$$